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1. Which of the following article has been introduced for reservations for women in LS?

a.337A
b. 67 A

c.330A
d. 228 A

Answer. ¢

2. Which of the following board is being established in Konkan region of Maharashtra?

a. Mango Board

b. Turmeric Board

¢. Research Centre for Banana
d. Watermelon Promotion Board

Answer. a

3. The Maharashtra Cabinet on 18th August 2023 announced the implementation of which road scheme?

a. Bhagwan Birsa Munda Road Scheme
b. Char Dham Road Scheme

c. Atal Tunnel Road Scheme

d. Ganga Expressway Road Scheme

Answer. a

4. Through which amendment Women Reservation Bill has been added to the constitution?

a. 120th Constitution Amendment
b. 122nd Constitution Amendment
c¢. 126th Constitutional Amendment
d. 128th Constitution Amendment

Answer. d

5. Latur Medium College of Maharashtra has been renamed after the name of:

a. Vilasrao Deshmukh
b. Morarji Desai

c. APJ Abdul Kalam
d. Anna Hazare

Answer. a

6. Asian Development Bank approved what amount of loan for Maharashtra to provide power connection in rural areas in Maharashtra?



a. 350 million dollars
b. 200 million dollars
¢. 700 million dollars
d. 100 million dollars

Answer. a

7. Which day is celebrated as State Journalist Day in Maharashtra?

a. 2nd February
b. 8th April

c. 11th October
d. 6th January

Answer. d

8. World Trade Expo 2023 will be held in:

a. Uttar Pradesh
b. Meghalaya
c. Maharashtra
d. Kerela

Answer. ¢

9. Which Indian Naval Ship has be decommissioned after 36 years of service?

a. INS Magar
b. INS Mahaan
c. INS Vihaan
d. INS Bhim

Answer. a

10. As per recent study human-induced climate change has caused a substantial change in the colour of?

a. Ocean

b. Trees

c. Land

d. Mountains

Answer. a

11. India recently signed MoU with which of the following country to collaborate on sharing of INDIA STACK?
a. Thailand

b. Pakistan

c. Canada

d. Trinidad and Tobago

Answer. d

12. Which city hosted the 'Global ESG Conclave 2.0' ?

a. Paris



b. Hong Kong
¢. Amsterdam
d. Dubai

Answer. d

13. Daimabad in Maharashta was located on which river?

a. Pravara
b. Krishna
c. Ganga
d. Indus

Answer. a

14. Sant Namdev was a famous saint of which of the following states?

a. Uttar Pradesh
b. Uttarakhand
c¢. Maharashtra
d. Chattisgarh

Answer. ¢

15. Which of the following battles was fought in AD 1192?

a. First battle of Tarain

b. Second battle of Tarain
c. Battle of Talikota

d. Battle of Khanwa

Answer. b

16. Gandhi ji wanted the Communal Award to be withdrawn, for this he started a fast unto death in which of the following places?

a. Yeravada jail

b. Sabarmati ashram
¢. Madras Central Jail
d. Kala Pani Jail

Answer. a

17. Which famous movement was started in Bombay on 8th August 1942?

a. Swadeshi movement

b. The Khilafat Movement

¢. Non Cooperation Movement
d. The Quit India Movement

Answer. d

18. Which of the following famous peasant movement took place in Maharashtra?

a. Eka Movement

b. Champaran Satyagraha



c. Kheda Satyagraha
d. Poona Sarvajanik Sabha

Answer. d

19. Which of the following tribal movements took place in Maharashtra during the British Rule?

a. Kuki Rising

b. Singpo Rising
¢. Munda Revolt
d. Ramsoi Revolt

Answer. d

20. Which of the following Maratha ruler signed the Treaty of Bassein with the British?

a. Baji Rao |

b. Balaji Baji Rao

c. Balaji Vishwanath
d. Baji Rao II

Answer. d

21. In which year did Shivaji make Raigarh his capital?

a. 1674 AD
b. 1680 AD
¢. 1627 AD
d. 1656 AD

Answer. a

22. Tarabai ascended the throne after the death of which ruler?

a. Shivaji
b. Rajaram
¢. Sambhaji
d. Shahu

Answer. b

23. The Collector of Nashik in British India was assassinated by which of the following freedom fighter from Maharashtra ?

a. Babu Genu

b. Baiza Bai

c¢. Anant Laxman Kanhere
d. Nana Patil

Answer. ¢

24. The first individual Satyagrahi, Acharya Vinoda Bhave offered Satyagrahi in which among the following way?

a. By not paying taxes

b. By burning British flags

¢. By makin a against the viceroy of India



d. By making anitwar speech

Answer. d

25. Maharashtra falls under which mineral region of India in the east?

a. Konkan Area

b. Vidharbha Area

c. Southern Belt

d. North-Western Belt

Answer. b

26. Which of the following Ultra Mega Power Plant is located in Maharashtra?

a. Sasan
b. Mundra
c. Girye
d. Tadri

Answer. ¢

27. Which of the following thermal plant is located in Maharashtra?

a. Uran Gas Turbine Power Station
b. Kota Super Thermal Power Station
c. Korba Super Thermal Power Plant
d. Barauni Thermal Power Station

Answer. a

28. Konkan Railway connects:

a. Maharashtra, Karnataka and Goa

b. Maharashtra , Madhya Pradesh, Odisha
c¢. Karnataka, Goa, Kerela

d. Kerela, Tamilnadu, Maharashtra

Answer. a

29. Ambedkar Airport is located in which of the following city?

a. Mumbai
b. Nagpur
c. Kolkata
d. Kanpur

Answer. b

30. Which of the following rivers does not flow into the Bay of Bengal?

a. Mahandi
b. Kaveri
c. Tapi

d. Godavari



Answer. ¢

31. The direction of the monsoon of the Arabian Sea branch is from:

a. NorthEast-SouthWest
b. SouthWest-NorthEast
c. SouthEast-NorthWest
d. NorthWest-SouthEast

Answer. a

32. According to 2011 census ,What is Maharashtra's rank in population?

a. 5th
b. 1st
c. 2nd
d. 7th

Answer. ¢

33. According to 2011 census, the literacy rate of Maharashtra is:

a.0.75
b. 0.7

c. 0.64
d. 0.82

Answer. d

34. The phenomena “Rainfall of Diamonds” occur on which of the following planets?

a. Uranus
b. Earth
¢. Mars
d. Venus

Answer. a

35. Maharashtra contributes about how much percentage of GDP of India?

a. 0.05
b. 0.15
c.0.25
d.0.35

Answer. b

36. Which city of Maharashtra is known for its cotton seeds?

a. Akola

b. Aurangabad
c. Kolhapur

d. Nagpur

Answer. a



37. The Bombay reorganization Act of 1960 split Bombay into present state of:

a. Maharashtra and Karnataka
b. Maharashtra and Telangana
c. Maharashtra and Gujarat

d. Maharashtra and Goa

Answer. ¢

38. Fundamental Rights have been described in which part of the constitution?

a. Part 1
b. Part 3
¢. Part 5
d. Part 7

Answer. b

39. The term of Legislative Assembly can be extended upto how much time in case of national emergency?

a. 2 months
b. 6 months
c. 9 months
d. 1 year

Answer. d

40. The three tier system of Panchayati Raj System was recommended by which of the following committee?

a. Balwant Rai Mehta Committee
b. Ashok Mehta Committee

¢. LM Singhvi Committee

d. PESA Act

Answer. a

41. How many members are elected from local bodies in Maharashtra Vidhan Parishad ?

a.22
b.7

c. 12
d. 39

Answer. a

42. The winter sessions of Maharashtra Legislative Council are held in:

a. Mumbai
b. Nagpur
c. Kolhapur
d. Pune

Answer. b



43. Who was first Speaker of Maharashtra Legislative Assembly after formation of Maharashtra state?

a. S.L. Silam

b. Dattatray Kashinath Kunte
c. Rahul Narvekar

d. Narahari Zilvarkar

Answer. a

44. If state government dissolves the Panchayat then next elections should be held within:

a. 4 months
b. 3 months
c. 1 year

d. 6 months

Answer. d

45. Which type of bill can the governor of Maharashtra not send for reconsideration back to the Maharashtra legislative assembly?

a. Ordinary bill

b. Money bill

c. Constitutional amendment bill
d. Finance bill

Answer. b

46. The minimum possible strength of council of ministers in Maharashtra according to constitution is:

a. 12

Answer. a

47. The Indian Constitution provides for the appointment of Ad hoc judges in the:

a. High Court

b. District Court
¢. Supreme Court
d. Parliament

Answer. ¢

48. Who was the first Chief Justice of Bombay High Court ?

a. Sir Mathew Richard Sausse
b. Sir Richard Couch

c. Sir Charles Sargent

d. B. N. Deshmukh

Answer. a

49. The first modern cotton textile mill was established in Bombay in the year:



a. 1850
b. 1844
c. 1854
d. 1888

Answer. ¢

50. Indian Security Press' is in which of the following city?

a. Dewas

b. Hyderabad
¢. Nashik

d. Mysore

Answer. ¢

51. The Central Office of the Reserve Bank was initially established in Kolkata but was permanently moved to Mumbeai in the year:

a. 1947
b. 1944
¢. 1937
d. 1930

Answer. ¢

52. Which of the following committee was constituted for reforms in tax structure?

a. Narsimham Committee
b. Chelliah Committee

¢. Gadgil Committee

d. Kelkar Committee

Answer. b

53. Projected GSDP of Maharashtra for the year 2023-24 is around:

a. 38.79 Lakh crore
b. 25 Lakh crore
c. 15 Lakh crore
d. 14 Lakh crore

Answer. a

54. Fiscal Deficit of Maharashtra for the year 2022-23 is around:

a. 2.50% of GSDP
b. 7.50% of GSDP
c. 10% of GSDP
d. 0.5% of GSDP

Answer. a

55. Shishu , Kishor and Tarun are the schemes of :



a. Regional rural banks

b. Pradhan Mantri MUDRA Yojana (PMMY)
c¢. Small Industries Development Bank of India
d. Industrial Development Bank of India

Answer. b

56. Mumbai Metropolitan Region Development Authority was established in the year:

a. 27th June ,1975

b. 23rd May , 1975

¢. 26th November ,1974
d. 26th January ,1975

Answer. d

57. Which of the following sectors is a part of the social sector in Maharashtra?

a. Banking and finance

b. Agriculture and farming
c. Healthcare and education
d. Information technology

Answer. ¢

58. Which of the following Sustainable Development Goals focuses on reducing inequalities within countries?

a. SDG 2
b. SDG 7
¢. SDG 10
d.SDG 3

Answer. ¢

59. Which social reformer from Maharashtra is also known as '"Mother of orphans'?

a. Dhondo Keshav Karve
b. Sindhutai Sapkal

¢. Mahatma Jyotiba Phule
d. Dr. Rani Bang

Answer. b

60. Bal Gangadhar Tilak established the New English School in Poona in the year:
a. 1896

b. 1880

c. 1870

d. 1875

Answer. b

61. What kind of energy is stored in a watch's spring?

a. Potential Energy



b. Kinetic Energy
c. Heat Energy
d. Chemical Energy

Answer. a

62. In which type of oscillation the loss of the oscillator is compensated by supplying energy from an external source?

a. Free oscillation

b. Maintained oscillation
c. Forced oscillation

d. Damped oscillation

Answer. b

63. Sound cannot pass through in which of the following?

a. Solids
b. Liquids
c. Gases
d. Vacuum

Answer. d

64. Which of the following is the unit of measurement for the fiery heat of a chilli pepper?

a. Wright
b. Smith
c. Orville
d. Scoville

Answer. d

65. What is the dipole moment in the BF3 molecule?

a.0
b. 1
c. 1.25
d.2.15

Answer. a

66. What is the primary constituent of Biogas?

a. Butane

b. Methane

c. Nitrogen dioxide
d. Ethyne

Answer. b

67. Which element has the narrowest liquid range in the periodic table?

a. Fluorine

b. Helium



¢. Neon
d. Argon

Answer. ¢

68. Which of the following helps in blood circulation?

a. Monocytes

b. Arithrocytus

¢. Blood platelets
d. Lymphocytes

Answer. d

69. Which of the following is the most giant living bird?

a. Peacock
b. Ostrich
c. Kiwi

d. Eagle

Answer. b

70. In plants, water is transported by:

a. Epidermis
b. Phloem
¢. Cambium
d. Xylem

Answer. d

71. The common spice clove is derived from which of the following?

a. Fruit
b. Stem
c. Flower bud
d. Root

Answer. ¢

72. The floral component that yields pollen grain is called:

a. Sepal
b. Petal
c. Anther
d. Ovary

Answer. ¢

73. Which vitamin is produced by the intestinal bacteria?

a. Vitamin A
b. Vitamin E

¢. Vitamin D



d. Vitamin K

Answer. d

74. At the end of a business conference, the 10 people present all shake hands with each other once. How many handshakes will there be altogether?

a. 45
b. 44
c.42
d. 20

Answer. a

75. What is the value of y? 3x + 2y = 10 4x + 6y = 12

a. 10/7.0
b. 17/7.0
c. 12/7.0
d. 16/7.0

Answer. d

76. The total age of three kids in a family is 42 years. What will be the total of their ages after three years?

a.328
b. 378
c. 388
d. 338

Answer. b

77. Simplify: 123 - 19 x 2+ 12

a. 900
b. 920
¢. 910
d. 890

Answer. ¢

78. The population of the village is 19980. Out of them 4523 are women and 6323 are men. Find the number of children in the city.

a.9134
b. 9124
c. 9114
d. 9280

Answer. a

79. Find out the signs to be interchanged to make the following equation correct. 8-9*8/4+1=25

a. plus and subtract
b. multiply and divide
c. divide and subtract

d. subtract and multiply



Answer. a

80. Salary of Shiv is 2 times more than that of Suresh. Suresh's monthly salary is 1200. Find Shiv's yearly salary

a. 28800
b. 2430
¢. 2460
d. 2890

Answer. a

81. The area of the triangle is 180 and the base is 12. Find the height

Answer. a

82. The average of three numbers is 280. First two numbers are 360 and 120. Find the third number

a. 280
b. 120
¢. 240
d. 360

Answer. d

83. If the sum of three consecutive even numbers is 126. Find the middle number

a. 40
b. 42
c. 44
d. 46

Answer. b

84. The average speed of bus is 80 miles per hour. Total time is 4 hours, find the distance

a. 310
b. 280
¢. 420
d. 320

Answer. d

85. 80 is what percent of 200?

a. 40

b. 30

c. 25



Answer. a

86. A bottle factory manufactured 2000 bottles in 25 days. How many bottles did it manufacture in 6 days?

a. 420
b. 440
¢. 430
d. 480

Answer. d

87. The cost of 5 purses is 1220. Find the cost of 11 purses.

a. 2684
b. 2682
¢. 2660
d. 2650

Answer. a

88. According to All India Survey on Higher Education 2020-2021 , Which city from Maharashtra ranks 4th in number of Educational Institutions?

a. Mumbai
b. Pune

¢. Nagpur
d. Nasik

Answer. b

89. What is the rank of Maharashtra according to size of GDP?

a. st
b. 2nd
c. 3rd
d. 4th

Answer. a

90. Which company included in 'General Insurance Corporation' has its head office in Mumbai?

a. United India Insurance Company

b. The Oriental Insurance Company Limited

c. National Insurance Company Limited

d. The New India Assurance Company Limited

Answer. d

91. India's first Bharatiya Mahila Bank was opened in which of the following city?

a. Mumbai
b. Chennai
¢. Kanpur

d. Mysore

Answer. a



92. I am an odd number. Take away one letter and I become even. What number am 1?

a. Nine
b. Seven
c. Eleven
d. Twelve

Answer. b

93. Solve - 15+ (-5x) =0

a.-3
b.3
c.0
d. 45

Answer. a

94. Look at this series: 38, 36, 32, 30, ? What number should come next?

a.26
b. 24
c.22
d. 20

Answer. a

95. If 13*11=341 and 12*13=651 then, 13*6=?

a. 78
b. 76
c. 87
d. 84

Answer. a

96. Find the missing number:

a. 20
b. 22
c.29
d.25

Answer. d

97. Find the correct analogy: Thermometer: Temperature

a. Length:Breadth



b. Milimeter:Scale
c. Cardiograph:Heart rate
d. Solar energy:Sun

Answer. ¢

98. Rectify the error in the sentence: The Leaders’ Summit (1)of India’s presidency(2) of the G-20 grouping(3) , held in the weekend(4)

d. 4

Answer. d

99. What does light year measure?

a. Intensity of light in one year

b. Distance of light travels in one year
c. Intensity of light in one day

d. Distance of light travels in one day

Answer. b

100. How many feet are in the mile?

a. 5280
b. 5260
¢. 6220
d. 6940

Answer. a
Test Question Language:- HINDI

1. TSt SV e APTIAS AR RGOS e e Tar?

a.337A
b. 67 A

¢.330A
d. 228 A

Answer. ¢

2. EEAiA®! UK HSe HERIFRAT S0l ARG RIMYT Fd S 3MTe?

a. 3iaT Hge
b. 52T He®
c. poiardt FMeyT Hg
d. PRI T Heew

Answer. a

3. WERIY HAHS®M 18 3iRe 2023 A PV T o SfHeaaui=l o dHeft?



a. WIIH o G371 1 aer
b. IR U T AT

C. 3T FNTGT IF TIorT

d. T gamd I Ao

Answer. a

4, PO TeAlgEIgR Afgal R fAdus dfaumms Sevard ema?

a, 1203 geagEwit
b. 122d geAgEwi
¢. 1268 geTgEwi
d. 1283t geATgEw

Answer. d

5. TR AR JEDR Biciord HIOMae AHGRU HRUA A TR

a. foamRE =M@
b. HRRST g
c. TS sfsga Ham
d. oo g

Answer. a

6. TR Ygauic d64 HERIPT AU yETHe fae Sieuar [RavarTs! HeREIEN fed IHAY Fol TR o SMR?

a. 350 TXAE S
b. 200 TE ST
¢. 700 = STe
d. 100 =@ e

Answer. a

7. DU feaw 6 HBR & WUH HERIP ORI Hel Sdl?

a. 2 Tgardl
b. 8 Tt

c. 11 iR
d. 6 SaRt

Answer. d

8. ICS ¢ TaUY 2023 A Y T Al SR a:

a. IW U™
b. FATTT

¢. HeRTY
d. "=

Answer. ¢

9. HIUY YRAT Ted e 36 aufe V=GR Jargad H0ATT A2



a. INS TR
b. INS HgH
c. INS fagM
d. INS "

Answer. a

10. 3P EIT SNIER AHG-URT I JCaie Irel TTHe qeoiia gaa e 3mg?

a. HeNIMR
b. TS
c. SHA
d. 75

Answer. a

11. HRAM Srcfip ST Wiellade! Hiorar SIHe INDIA STACK 9Tk dxuaifaudl Grici dxRIaR Wiekl hefl 3R?

a. Yrgds
b. Tifr™
c. FIT

d. Bfare enfor e

Answer. d

12. HIUAT TRH TAed ESG i 2.0' i Ha?

a. uRg
b. BRTHIT

c. TaexsH
d. g%

Answer. d

13. TERIPTHA QHeTE S ThES R emg?

a. Yo

b. FWT
¢. T
d. Ry

Answer. a

14. Tq 9T Tefiade! o IR IRig I 8a?

a. IR U™

b. RIS

¢. IERTY
d. 3Te

Answer. ¢

15. Teicie! PO ders 39dt 99 1192 It dee A?



a, Wigd! ufgell e
b. REH g Tr$
c. ARG e

d. T e

Answer. b

16. e g1 Bt B ST FarsT AW YA STdT, et Il SR UVl Wetadst ST bt I bat?

a. WIS TET

b. JERA 3H

c. A TEadl g&
d. PreT UTwERET TEIT

Answer. a

17. Sl URiE afigie 8 sie 1942350 Has 3 g& ma?

a. W sfiEer
b. Reemea sieiaT
¢. -UgPR 3ficla
d. B YRA S

Answer. d

18. Efiaie! HIU TP SfiEer TERIE TgT STar?

a. Tl ieieH

b. IR I
c. 9l YA

d. g0 I U

Answer. d

19. TS FORR SfeaRl I@ae ey AeEdA WM FERIPK UG Sie?

2. 5 g
b. R fagis
c. ge1 fags
d. 3w e

Answer. d

20. TP HIAT FRIGT AT [T TS qeTaR WieR] Hefl?

a. SIoiRTE |
b. STl STSRIG
c. St fayETy
d. IeiRE 11

Answer. d

21. ST I8 RIaTell AERTSIH IS ar 3Muel Isret saa?



a. 1674 AD
b. 1680 AD
¢. 1627 AD
d. 1656 AD

Answer. a

22. IR FHIOT ITHTA TR RIgRAGR S9e?

a. Rarsl #ER
b. ISR

c. JHrelt

d. g

Answer. b

23. TERTERIS Hivl @i JFen ffew fsame TR SefteramEt s He?

a. §1g I

b. SEASTETS

¢. 3 TEHAU BT
d. 7T Ot

Answer. ¢

24, URRA Jufkie TamE, e faHier HIaH Wieiee! PV TgdH IAWE Hel?

a. IR T UEA
b. fofexr @& S

¢. YRATHT P ARy Hell ded
d. ISR ywo A

Answer. d

25. TERTY WRATAT Jadbeid HIUEl @iel TeRmar Jar?

a. BB fIHRT
b. fagy fawm

c. afaoft gt

d. ST-ufgeft ugr

Answer. b

26. TATIFT HUR SfegT AN TR Wi TERIP UG 3132

a. g
b. Ha1
c. ff
d. gt

Answer. ¢

27. EiEate! SO YT @I TR [RUd 3?



a, RO 7Y <af§ dieR ¥eA
b. FleT R ydd Uk ®IA
. HRAT YR YA IR @<
d. S ya ofeR ®YA

Answer. a

28. HIHU Jed FAT S

a. TIERIY, Ffiess oMfr it
b. HERTY, A Uaw, 3Nfen
¢. TieH, T, IS

d. B3, AfHeSTg, HERTY

Answer. a

29, 3fiSsHR faAMde Wiellale! HIur Ted 3R?

a. &g
b. TR
¢. BT

d. IR

Answer. b

30. TTiaddt PO T ST STUFRIG faeliF gld A’

a. HEHd
b. S
c. ardt

d. T

Answer. ¢

31. SRa TS W ARG R Ay A

a. $A-Thd
b. FHI-EI
¢. F-ITH
d. I-3T

Answer. a

32. 2011 SFUFTHR, AibueiHe HERIZR $HHid I 3Me?

a. 5d1
b. 1<
c. 2%
d. 7ar

Answer. ¢

33. 2011341 SFVHTER HERIPRET HERd & $E 3M6:

a.0.75



b. 0.7
c. 0.64
d.0.82

Answer. d

34. “fgrar U YT WAlad®! U TeTR gSa?

a.
b. gt
c. He
d. %

Answer. a

35. WERTY WRare St A fdt oo AreH ar?

a. 0.05
b. 0.15
c.0.25
d. 0.35

Answer. b

36. TERTERI PV IR G PIYY SRATwaEd uRis ome?

a, e
b. SRTETG
¢. BRI
d. TR

Answer. a

37. 196001 Has YEge SN Hasd TRl I1 AT faUeH Ha:

a. TERTY SMfr FAfed
b. HERTY 01 deron
c. HERIY 30T ToRTd
d. TRy 3o Tiar

Answer. ¢

38. qOYd SRR TRIUFR HIo@T YN Ui Hod 3Ra?

a. Y 1
b. 411 3
¢. T 5
d. Hm 7

Answer. b

39. g sofaroiien fRda Rurmater sriee Fd Fewa aead o1 AHar?

a. 2\l
b. 6 Al



c. 9\l
d.1af

Answer. d

40. TSB! HUET GG TEEd Ao JF TG gdR ReRa $Hd?

a. S9d g Al FfEh
b. 32l Hedl At
c. Ta g Riudt wfidt
d. 091 Pral

Answer. a

41. 7eR1y fyH uRudHe) RIS WRed JRmYT fbdt e Masd s

a.22
b.7

c. 12
d. 39

Answer. a

42. ARyl fayF uRwdd fRarel ofaeH 49 SmAifSid d Sird:

a. gus
b. AR
¢. BRI
d. gor

Answer. b

43. WERTY A AT FAMHR FeRTy f[Furrane ufed siemy s gha?

a. 09. w9, Ryew

b. TAEA FRIAY $He
¢. MEA AEHR

d. TEQ e

Answer. a

44, 79 WHRA Td AEiid Fead R geid Rasus a1 saedd daen gfged:

a. 4 TfeA
b. 3 A
c. 1 a¥

d. 6 7

Answer. d

45. DU YPRY IPgPH TR AU HERTY AUFanes ARG UI6q, qHd -7

a. AR fadas
b. 1 fadus
¢. TS o i



d. fag fadus

Answer. b

46. SfIUFTIER FERIPr FEURWeD fFae dwer deree fdt om:

a. 12
b. 20
¢. 30
d. 19

Answer. a

47. YR g iR amed drepifers fAgedt dRuaml R ee:

a. 3 IR
b. fresT =grrer
c. Fdfe =
d. ¥9g

Answer. ¢

48. 4% I TN Ued GBI AR S0 gha?

a. W T fas 99
b. W = =
c. T8 = el
d. . T, SR

Answer. a

49, Hudda wRA oy wiew Sewerda a1 aff il Frh;

a. 1850
b. 1844
c. 1854
d. 1888

Answer. ¢

50. 33T g I T HoEr TEd R?

a. a9
b. BTG
c. TRB
d. 39R

Answer. ¢

51. g dod Awadl Brfay Rarda Sad 3T WITT FRUAE 1A W d Go8 3N GOAEEY Sodl a¥f gaquard 3

a. 1947
b. 1944
¢. 1937

d. 1930



Answer. ¢

52. R YA GURUTATS! Welate! Hiordt aftdt wimoT wruarg ef?

a. TRIeH A
b. 3w afidt
c. Methes ferdt
d. FoHR Gt

Answer. b

53. 2023-24 IuiETET AERIPR Sfaford GSDP YAR a9 33

a.38.79 @@ HIAt
b. 25 AE B
c. 15 @/ S
d. 14 9@ S

Answer. a

54.2022-23 Fufardt FERIPE faefla ¢ R 0@ omR:

a. GSDP 2.50%
b. GSDPY 7.50%
c. GSDPE 10%

d. GSDP¥ 0.5%

Answer. a

55, fRrg, fpeiR onfor a&ur a1 gdld Ao SR

a. MR% Imfior St

b. T TR gaT A (PMMY)
¢. YRar @ I i d5
d. WRaE iefie faw dF

Answer. b

56. 4o8 TEFTR U faebry iR ®iaAr ar asf gl

a.27{ ,1975
b.23 9 , 1975

¢. 26 AR, 1974
d. 26 I, 1975

Answer. d

57. GNP PO & FERIPH WIS A TS W 32

a. s 3nfor faaRaeT
b. 2t snfdr wiff

c. SRIaEar Snfor Ryaor
d. Hifedt R

Answer. ¢



58. WAt HIUG WMHd PR XY WL SRHAT HH BROGIR Tel Bigd HRa?

a. SDG 2
b. SDG 7
¢.SDG 10
d. SDG 3

Answer. ¢

59. FERIPTNT BT YIS GURSTE 'SR H1ar g} Ted Sa?

a, i) H=T F
b. Riyds JusTes
c. TETeT Sifaet Bl
d. ST 3oft g

Answer. b

60. 97 TR fed it gor Y wioren aff g S Wpadl wIgAT Fef:

a. 1896
b. 1880
c. 1870
d. 1875

Answer. b

61. TSI RS ST THRAT Soll Areaad d?

a. Jurem el
b. FEAfeE Il
¢. I ol

d. I Selt

Answer. a

62. BT YHRA SITHS QABE JHUH a1 Waidhgd Sl R Hed Hled oa?

a. gad alad

b. FUY JEAA A
¢. IR e

d. 3fERR aeH

Answer. b

63. @Gt Wieat®! ST TR 81 Whd TEr?

a. uq
b.%d
¢. dig
d. Ut

Answer. d



64. TRl BV The PR Sadd foeeuon Hisvar 7Y emg?

a. TR
b. 1y
c. e
d. @ifdd

Answer. d

65. BF3 Jumed fgydia &or & sryai?

a.0
b. 1
c. 1.25
d.2.15

Answer. a

66. STERTTET YTUfie Gch IO R?

a. &2
b. frd=
¢. TEISH SHRITSS
d. tRA

Answer. b

67. 3ad IRUHE BT dare g Aot gafa sRee eme?

a. TIARTE
b. g

c. FefiT

d. 3

Answer. ¢

68. TISHATD! B TATEROML HEd HRA?

a, BT

b. sieiEeE
c. <€ Weded
d. e rasey

Answer. d

69. Tl T T Fafd Herer Rdd et 3me?

a. oR

b. &
c. fordt
d. =S

Answer. b

70. ITAR, YA aeq@ dM dbal o



a. s
b. AT
c. Fitean
d. Fad

Answer. d

71. HEIG T d&T oot HRIHYT W Be Sa?

a. hd
b. 33
c. A B
d.gz

Answer. ¢

72. BAMNA 9edh S WRETHU TR HRal A1l S GUrd:

a. Jud
b. ted
c. &R
d. 3fdt

Answer. ¢

73. Jderdid SRRUGR B R TR Fa Sa?

a. f&chim A
b. gt E
c. fgfim D
d. fegfim K

Answer. d

74, IS uRuga e, 9 SuRYA A 10 A THHEINE Thal gwiaad bd. i U0 e ¥d fadt swidem smei?

a. 45

Answer. a

75. yd & $W 3MR? 3x + 2y = 10 4x + 6y = 12

a. 10/7.0
b. 17/7.0
c. 12/7.0
d. 16/7.0

Answer. d

76. THT Hearda I goren st W 42 oR. T avfiR e et R Fr eda?



a. 328
b. 378
c. 388
d. 338

Answer. b

77. TRAHROT IR 123 - 19 x 2+ 12

a. 900
b. 920
¢. 910
d. 890

Answer. ¢

78. U! Tardt diwEen 19980 . @idt 4523 A1 f&ar Sfdr 6323 YW S13d. @) TMawdid ot T qne.

a.9134
b. 9124
c.9114
d. 9280

Answer. a

79, Wrefi TR TR TIIUEIST AT BT R Sediecd dat g o TNl 8-9%8/4+1=25

a. RS ST FETRI o
b. TOMHR AN HIMHR o
¢. HRTbR 30T et R
d. e T R R

Answer. a

80. Rraar TR YRR TIRTIYT 20¢H SR 3. YRR Aie TR 1200 3. R Rraan affe oR =ier

a. 28800
b. 2430
¢. 2460
d. 2890

Answer. a

81. BRI &mes 180 3] SO U 12 3178, R APpum=h It 2er

a. 30
b. 25
¢. 36
d. 20

Answer. a

82. I TEHidl IR 280 SfTe. Ufgedn g W= 360 31 120 smed. @R fous wRewm e



a. 280
b. 120
¢. 240
d. 360

Answer. d

83. {19 wa 9 TRl a8 126 SR, ardia Hych e ier

a. 40
b. 42
c. 44
d. 46

Answer. b

84, IUTT WY A7 A 80 AT 3R, TRV A% 4 A 3, R o 3fR e

a.310
b. 280
¢. 420
d. 320

Answer. d

85. 80 UM 2003 frdt ca®?

a. 40

Answer. a

86. U1 STl HRAE 25 &g 2000 Seedl TR FHedl odd. @R 6 fGawa a8 fovdl Sleen @R gaa?

a. 420
b. 440
¢. 430
d. 480

Answer. d

87. 5 T¥fET ®E 1220 3. @R 11 wan & fopat.

a. 2684
b. 2682
¢. 2660
d. 2650

Answer. a

88. 3= fRemonfawdl, sifée wRdR Fdemr 2020-2021 39R, HERIPNAS BV W6 AailOrp Awifean GEIG 420 FHBIER M2



a. 4es
b. gor
¢. TR
d. TR

Answer. b

89. SISl SPRAIIR HERIPTET HHP PIVEI 3Me?

a. I
b. 21
c. 3
d. 41

Answer. a

90. SRT SRR BIGRI AD THIAT AT BV HU GRATTd YasA 3M1R?

a. T e SRR Hoet
b. sfiftTa SRR Hu fafies
¢. HA SRR FHu s
d. g e TR sut fafes

Answer. d

91. YRAr Tfgeh YR ORAr 9% WISt SO WG & 1e?

a. 4as
b. 37

¢. AR
d. TR

Answer. a

92. T U fawn IS 3MR. TH 3MeR Fled & Hl IH B &7, Hl HIU JeA 3mg?

a. T3
b. d1d
C. DT
d. 9T

Answer. b

93, Tredl - 15+ (-5x) =0

d. 45

Answer. a

94, gt TIfereT UET: 38, 36, 32, 30, ? A1d YA TR HIUKT IR gAl?

a.26



Answer. a

95. %R 13*11=341 3fdr 12*13=651 W, 13*6=?

a.20

b. 22
c. 29
d. 25

Answer. d

97. T TYRf T YA AT

a, e

b. fircidier.w5a

c. PSS Tt
d. IR Set.gd

Answer. ¢

98. TR It gowt B A1 RRR IRwE (1)HRATAT A&TErEN(2) G-20 TerE(3), Uwis SR Srfrd el Tai(4)

d. 4

Answer. d

99, YHTR1 I§ HF Hiod?

a. T! aufdia v e
b. THTIM &I aufd Saedn JaN SR
c. U1 faaardier el dierar
d. UM ThT fEaqrd detedl YA 3R

Answer. b

100. ™% 9 wUN et ge?



1. (c)

11. (d)
21. (a)
31. (a)
41. (a)
51. (¢)
61. (a)
71. (¢)
81. (a)
91. (a)

a. 5280

b. 5260

¢. 6220

d. 6940

Answer. a

2. (a)

12. (d)
22.(b)
32.(¢)
42. (b)
52.(b)
62. (b)
72. (¢)
82.(d)
92. (b)

3.(a)

13. (a)
23.(c)
33.(d)
43.(a)
53. (a)
63. (d)
73. (d)
83.(b)
93. (a)

4.(d)

14. (c)
24. (d)
34. (a)
44. (d)
54. (a)
64. (d)
74. (a)
84. (d)
94. (a)

5.(a)

15. (b)
25.(b)
35. (b)
45. (b)
55. (b)
65. (a)
75. (d)
85. (a)
95. (a)

Test Answer

6. (a)

16. (a)
26. (c)
36. (a)
46. (a)
56. (d)
66. (b)
76. (b)
86. (d)
96. (d)

7.(d)

17. (d)
27. (a)
37.(c)
47. (c)
57. (c)
67. (c)
77. (c)
87. (a)
97. (c)

8. (c)

18. (d)
28. (a)
38. (b)
48. (a)
58. (¢)
68. (d)
78. (2)
88. (b)
98. (d)

9. (a)

19. (d)
29. (b)
39. (d)
49. (¢)
59. (b)
69. (b)
79. (2)
89. (a)
99. (b)

10. (2)
20. (d)
30. (c)
40. (a)
50. (c)
60. (b)
70. (d)
80. (2)
90. (d)
100. (a)



